<FREF=-FEEKRE RIEE FKLET—2>

KEEEER KEHEE HKIBR BX R/ Fiy KEHEIER KEHEE HKIBR BX R/ SEY
%= 0 0 0 %= 0.008 0.007 0.007
1 [—hess 100CFULL T /mL E1e 0 0 o | 28 [F)HYOOEES 003mg/L LT %m <0.002 <0.002 <0.002
A 0 0 0 A 0.022 0.003 0.007
B= T T T E= 0.007 0.004 0.005
2 | Ki5& BHINGNIE Em R & e |29 |F0ES/OO0AEY 003mg/L BT 1] 0.002 0.001 0.002
HHD T T T HER 0.010 0.003 0.006
BrEYL %= <0.0003 <0.0003 <0.0003 %= <0.001 <0.001 £0.001
3 &U;%om am 0003mg/L  WTF $m <0.0003 <0.0003 <0.0003| 30 [FAERILL 0.09mg/L KT $m 0.003 0.002 0.003
LT <0.0003 <0.0003 <0.0003 LT 0.001 <0.001 <0.001
%= <0.00005|  <0.00005 <0.00005 %= <0.008 <0.008 <0.008
4 %J;%E% olan 0.0005mg/L LT Ed) <0.00005| <0.00005| <0.00005| 31 |RILLTILTER 008mg/L LT $m <0.008 <0.008 <0.008
L <0.00005|  <0.00005|  <0.00005 L <0.008 <0.008 <0.008
. %= <0.001 £0.001 £0.001 %= <0.01 £0.01 <0.01
5 E‘{émt am 001mg/L LT E1) £0.001 <0.001 <0.001| 32 |ESRRUVZDILEY 1.0mg/L BT $m £0.01 £0.01 £0.01
= <0.001 <0.001 <0.001 LT <0.01 £0.01 £0.01
%= <0.001 <0.001 £0.001 o g= <0.02 <0.02 <0.02
6 |SRUZDILEY 001mg/L LT E1s <0.001 £0.001 <0.001] 33 ;L}llﬁ%_(f)?é"% 02mg/L KT $m £0.02 £0.02 £0.02
= <0.001 <0.001 <0.001 B LT 0.05 £0.02 £0.02
%= <0.001 £0.001 <0.001 %= <0.03 <0.03 <0.03
7 |ERRUZDIEEY | 00Img/L WTF 1] 0.003 0.002 0002 | 34 [ RUZDILEY 03mg/L KT E1) £0.03 <0.03 <0.03
= <0.001 <0.001 <0.001 = £0.03 £0.03 <0.03
%= <0.002 <0.002 <0.002 %= <0.01 £0.01 <0.01
8 [AffiynLit &Y 005mg/L KT E1) <0.002 <0.002 <0.002| 35 [SARUVZDILEY 1.0mg/L  WUTF E1) <0.01 <0.01 <0.01
LT <0.002 <0.002 <0.002 = <0.01 <0.01 <0.01
%= <0.004 <0.004 <0.004 TRy %= 20 19 20
9 |EHERREER 004mg/L KT E1s <0.004 <0.004 <0.004| 36 RUZOIL e 200mg/L  WTF $m 31 29 30
LT <0.004 <0.004 <0.004 LT 19.0 9.0 13.7
. . %= <0.001 £0.001 £0.001 e %= 0.021 <0.005 0.007
10 g&‘éﬁ@f; 001mg/L BT E1u £0.001 £0.001 <0.001| 37 ;a?%;)“:ﬁ% 005mg/L BT $m <0.005 <0.005 <0.005
L <0.001 <0.001 <0.001 L <0.005 <0.005 <0.005
e g= <0.1 <0.1 <0.1 g= 10.6 10.0 10.2
11 gf%%%ﬂé“m 10mg/L KT E1) <0.1 <0.1 <0.1| 38 |t&iLimAA> 200mg/L  WTF E1) 14.8 14.4 14.6
B=ER
= 2.9 13 20 = 40 15 26
g= 0.13 0.12 0.13 . g= 77 69 74
12 ;iii%mtﬁ% 08mg/L  WUT E1) 0.07 0.07 0.07 | 39 31’::;»?/['51\%(@&) 300mg/L KT E1) 73 67 70
L 0.12 0.07 0.10 L 99 44 70
g= <0.1 <0.1 <0.1 g= 182 176 179
13 g?X?%MI:AM 1.0mg/L  WTF E1) 0.10 0.10 0.10 | 40 (EFEEEY 500mg/L KT Edx) 181 174 177
&
= <0.1 <0.1 <0.1 B 212 111 161
g= <0.0002 <0.0002 <0.0002 g= <0.02 £0.02 £0.02
14 |migibik %k 0002mg/L  WTF $m <0.0002 <0.0002 <0.0002| 41 (fEAA> REEHH 0.2mg/L KT i <0.02 <0.02 <0.02
LT <0.0002 <0.0002 <0.0002 LT <0.02 £0.02 £0.02
g= <0.005 <0.005 <0.005 %= <0.000001| <0.000001| <0.000001
15 14-CFFH> 005mg/L LT Equ <0.005 <0.005 <0.005] 42 |UxAH R 00001mg/L KT E1) <0.000001| <0.000001| <0.000001
= <0.005 <0.005 <0.005 B 0.000002| <0.000001| <0.000001
YA-1.2-Y"9OAIFLy %= <0.002 <0.002 <0.002 e B= <0.000001| <0.000001| <0.000001
16 | RUMvA-1.2-Y"A 004mg/L KT o <0.002 <0.002 <0.002| 43 (Zz'fhjg” VA=l 00001mg/L KT %m <0.000001| <0.000001| <0.000001
ATFLY HE <0.002 <0.002 <0.002 HE 0.000002| <0.000001| <0.000001
%= <0.001 <0.001 <0.001 %= <0.005 <0.005 <0.005
17 |>y0oxrey 002mg/L LT E1u <0.001 £0.001 <0.001| 44 |EAA > REFHH 002mg/L LT E1u <0.005 <0.005 <0.005
L <0.001 <0.001 <0.001 B <0.005 <0.005 <0.005
$= <0.001 £0.001 £0.001 $= <0.0005 <0.0005 <0.0005
18 |ThSYORTFLY 001mg/L BT o <0.001 <0.001 <0.001] 45 |[7=/—IV$E 0.005mg/L KT %m <0.0005 <0.0005 <0.0005
A <0.001 <0.001 <0.001 A <0.0005 <0.0005 <0.0005
%= <0.001 <0.001 <0.001 N %= 0.7 0.6 0.6
19 |bJyRBIFLY 001mg/L  HF 1 <0.001 <0.001 <0.001| 46 E‘%%gﬁﬁm% 3mg/L KT M 0.6 <0.2 <02
A <0.001 <0.001 <0.001 A 1.1 0.5 0.8
%= <0.001 <0.001 <0.001 %= 7.9 7.7 78
20 [(RyEY 001mg/L BT E1e) £0.001 £0.001 <0.001] 47 |pH{E 58L1 E~86LLT E1x) 8.2 8.1 8.2
L <0.001 <0.001 <0.001 L 75 71 7.3
B= 0.10 0.07 0.09 F= BEREGL | BELUL | BE4L
21 |1E5=Eg 0.6mg/L  MUTF m 0.08 <0.06 <0.06| 48 | BHETRNIE g BEELZL | E84L | EBLL
R 0.16 <0.06 0.11 HE BEEGL | BEGL | BE4L
B= <0.002 <0.002 <0.002 B= EELL | EBL4L | EBLL
22 |YOOEFEE 0.02mg/L  WTF #m <0.002 <0.002 <0.002] 49 RS BETHNIE o BEREGL | BELGL | BEAL
HER <0.002 <0.002 <0.002 HER EELL | EB4L | EBLL
$= 0.022 0.010 0.014 $= 3.2 1.1 15
23 |7ookiLL 0.06mg/L  WTF E1s <0.001 <0.001 <0.001| 50 &R 5 WTF E ] 09 <05 <05
A 0.023 0.003 0.008 A <0.5 <0.5 <0.5
%= 0.005 0.003 0.004 %= 0.2 <0.1 <0.1
24 |ConOEEg 003mg/L LT E1s <0.002 <0.002 <0.002] 51 |&E 2E UTF $m 0.1 <0.1 <0.1
L 0.016 0.002 0.005 = <0.1 <0.1 <0.1
$= 0.002 0.001 0.001 $= 0.74 0.44 0.59
25 |7nEs/00r80 0.1mg/L  MUTF Em 0.005 0.003 0004 | - |E&BER 3 0.67 0.40 0.55
A 0.007 0.001 0.003 A 0.73 0.53 0.60
%= <0.001 <0.001 <0.001 %= 19.0 16.5 17.7
26 |R*RE 001mg/L BT 1 £0.001 <0.001 <0.001| - [KiB(BH) Ee 215 17.0 195
A <0.001 <0.001 <0.001 A 26.1 6.8 155
= 0.031 0.015 0.021
27 [#RUBAZY 0.1mg/L KT E ] 0.010 0.006 0.008 I<JIFRBRERBEBRLES .
D 0.033 0.009 0.017 KEDHIEIL. &FKGTORIETRIEEDEHELL>TVET,
yEw|  #= | FREE=RKEsSELA;K
ZIEDHLEHE gEw|  #m | FREEmFKSNSELNIZK
E% iR |RERAKIGTREESNIK




<FREFE=-FEEKRE RIEE HRKELET—4>

KEEEER KEEEE HKIBR BX R/ i KEHEIER KEHEE HKIBR BX R/ SEY
%= 0 0 0 $= 0.010 0.009 0.009
1 |—HEE 100CFULLT/mL = 0 0 0| 28 |r)YDOEREE 0.03mg/L  WTF E ] 0.004 <0.002 0.002
A 0 0 0 A 0.022 0.003 0.007
B= T T T E= 0.007 0.006 0.007
2 | Ki5& BHINGNIE ] R & e |29 |F0ED/OO0AEY 003mg/L BT Em 0.007 0.005 0.006
HED g T T HER 0.010 0.003 0.006
RIS L B= <0.0003 <0.0003 <0.0003 B= <0.001 <0.001 £0.001
3 &';20)“: am 0003mg/L  WTF $m <0.0003 <0.0003 <0.0003| 30 [FAERILL 0.09mg/L KT $m 0.003 0.002 0.002
L <0.0003 <0.0003 <0.0003 = 0.001 <0.001 <0.001
B= <0.00005|  <0.00005 <0.00005 B= <0.008 <0.008 <0.008
4 g%ﬁ% olkam 0.0005mg/L LT E1) <0.00005| <0.00005| <0.00005| 31 |RILLTILTER 008mg/L LT E1) <0.008 <0.008 <0.008
LT <0.00005|  <0.00005|  <0.00005 LT <0.008 <0.008 <0.008
. B= <0.001 <0.001 £0.001 B= <0.01 <0.01 <0.01
5 chtl{ﬁf%mt am 001mg/L LT E1) £0.001 £0.001 <0.001| 32 |ESRRUVZDILEY 1.0mg/L BT $m £0.01 <0.01 £0.01
L <0.001 <0.001 <0.001 L <0.01 <0.01 <0.01
B= <0.001 £0.001 £0.001 o B= <0.02 <0.02 £0.02
6 |SARUZFDIEEY 001mg/L BT E1) £0.001 £0.001 <0.001] 33 ;‘L)ll};_(f)?é"% 02mg/L  WTF $m £0.02 £0.02 £0.02
= <0.001 <0.001 <0.001 B = 0.05 £0.02 £0.02
= <0.001 <0.001 £0.001 = <0.03 £0.03 £0.03
7 |[ERRUZDIEEY | 00Img/L WTF Ed) 0.002 0.002 0.002 | 34 |#HRUZDILEY 03mg/L LT Ed) £0.03 <0.03 <0.03
LT <0.001 <0.001 <0.001 LT £0.03 £0.03 £0.03
B= <0.002 <0.002 <0.002 B= <0.01 <0.01 <0.01
8 |AffiynLL & 005mg/L KT E1) <0.002 <0.002 <0.002| 35 [SARUVZDILEY 1.0mg/L  WUTF E1) <0.01 <0.01 <0.01
L <0.002 <0.002 <0.002 = <0.01 <0.01 <0.01
B= <0.004 <0.004 <0.004 Ry %= 20 20 20
9 |EHERREER 004mg/L KT i <0.004 <0.004 <0.004| 36 RUZOILam 200mg/L  WTF $m 25 24 24
= <0.004 <0.004 <0.004 = 19.0 9.0 13.7
o . B= <0.001 <0.001 £0.001 e B= <0.005 <0.005 <0.005
10 g&‘éﬁ@f; 001mg/L BT E1s <0.001 £0.001 <0.001] 37 ZV‘L{K%?TMI:J:%;% 005mg/L BT E1) £0.005 <0.005 <0.005
B <0.001 <0.001 <0.001 L <0.005 <0.005 <0.005
e g= <0.1 <0.1 <0.1 g= 11.0 10.3 10.6
11 %%ﬁﬁfﬂgxm 10mg/L KT E1) 0.9 0.4 0.7 | 38 &1L A> 200mg/L  WTF E1) 236 14.9 185
= 2.9 13 20 = 40 15 26
g= 0.13 0.12 0.12 R g= 77 69 73
12 ;iﬂi%mtﬁ% 08mg/L  WUT E1) 0.09 0.08 0.08 | 39 21’::;?/};\7‘1-\%(55@&) 300mg/L KT E1) 77 65 69
= 0.12 0.07 0.10 = 99 44 70
g= <0.1 <0.1 <0.1 g= 181 171 177
13 ﬁ?ﬁfmwm 10mg/L  WTF E1) 0.10 <0.1 <0.1| 40 |ZH%EEY 500mg/L LT E1) 174 154 165
&
= <0.1 <0.1 <0.1 = 212 111 161
B= <0.0002 <0.0002 <0.0002 B= <0.02 £0.02 £0.02
14 |migibik %k 0002mg/L  WTF $m <0.0002 <0.0002 <0.0002| 41 (fEAA> RE@EHH 0.2mg/L KT i <0.02 <0.02 <0.02
B <0.0002 <0.0002 <0.0002 B <0.02 £0.02 £0.02
B= <0.005 <0.005 <0.005 B= <0.000001| <0.000001| <0.000001
15 14-CFFH> 005mg/L LT i £0.005 <0.005 <0.005] 42 |UxAH R 00001mg/L KT E1x) <0.000001| <0.000001| <0.000001
LT <0.005 <0.005 <0.005 LT 0.000002| <0.000001| <0.000001
YA-1.2-Y"9OAIFLy %= <0.002 £0.002 <0.002 S B= <0.000001| <0.000001| <0.000001
16 | RUMvA-1.2-Y"9A 004mg/L KT o <0.002 <0.002 <0.002| 43 f{_;g”"”"r”b 00001mg/L KT o <0.000001| <0.000001| <0.000001
AIFLY HE <0.002 <0.002 <0.002 HE 0.000002| <0.000001| <0.000001
B= <0.001 <0.001 <0.001 B= <0.005 <0.005 <0.005
17 |>y0oxrey 002mg/L BT 1 £0.001 <0.001 <0.001| 44 |14 REEHEHA] 0.02mg/L LT 1 £0.005 <0.005 <0.005
= <0.001 <0.001 <0.001 = <0.005 <0.005 <0.005
B= <0.001 £0.001 £0.001 B= <0.0005 <0.0005 <0.0005
18 |FhSY0RTFLY 001mg/L BT o <0.001 <0.001 <0.001] 45 |[7=/—IV$E 0005mg/L KT %m <0.0005 <0.0005 <0.0005
A <0.001 <0.001 <0.001 A <0.0005 <0.0005 <0.0005
B= <0.001 <0.001 <0.001 N %= 0.6 0.6 0.6
19 |hJyRBOIFLY 001mg/L  HF g <0.001 <0.001 <0.001| 46 E‘%%gﬁﬁm% 3mg/L KT S 04 03 0.4
A <0.001 <0.001 <0.001 A 1.1 0.5 0.8
H= <0.001 <0.001 <0.001 %= 78 7.7 78
20 [RyEY 001mg/L BT E1) £0.001 <0.001 <0.001] 47 |pHiE 58L1 E~86LLT E1) 8.1 7.9 8.0
L <0.001 <0.001 <0.001 L 75 71 7.3
B= 0.10 0.07 0.08 F= BEREGL | BELUL | BE4L
21 |1E =g 0.6mg/L MUT m 0.10 <0.06 <0.06| 48 |% BETRWNIE g BELZL | E84L | EBLL
R 0.16 <0.06 0.11 HE BEEGL | BELGL | BE4L
B= <0.002 <0.002 <0.002 B= EELL | EB4L | EBLL
22 |VOOEFER 0.02mg/L  WTF #m <0.002 <0.002 <0.002] 49 RS BETHRNIE Fm BEREGL | BELUL | BE4L
HER <0.002 <0.002 <0.002 HER EELL | EBL4L | EBLL
B= 0.019 0.015 0.018 $= 20 0.9 12
23 [YBakRLL 0.06mg/L KT m 0.005 0.003 0.004 | 50 |2 5 T FEm <0.5 <0.5 <0.5
A 0.023 0.003 0.008 A <0.5 <0.5 <0.5
%= 0.003 <0.002 0.002 %= <0.1 <0.1 <0.1
24 |ConOEEg 003mg/L LT E1s 0.003 <0.002 <0.002] 51 |&E 2 WUTF $m <0.1 <0.1 <0.1
L 0.016 0.002 0.005 L <0.1 <0.1 <0.1
B= 0.002 0.002 0.002 $= 0.42 0.20 0.31
25 |7 nEs/00r8y 0.1mg/L  MUTF 1 0.008 0.005 0.006 | - |%&BiER g 0.48 0.35 0.42
A 0.007 0.001 0.003 A 0.73 0.53 0.60
H= <0.001 <0.001 <0.001 %= 25.8 85 18.4
26 |R*RE 001mg/L BT 1 £0.001 <0.001 <0.001| - [KB(BH) Ee 2738 1.3 19.3
A <0.001 <0.001 <0.001 A 26.1 6.8 155
= 0.028 0.024 0.026
27 [#RnBAZY 0.1mg/L BT o 0.021 0.016 0.018 I<JIFRBHRERBEBRLES .
R 0.033 0.009 0.017 KEDHIEIL. BHRKETORIETRIEEDEHELL>TVET,
(FRERHIKIZDAHEKRRIFOBUEHL V=8 . HKIZEDHIE)
ga[  #=  |[ISRAREOK
ELOHBHER YER|  #gm (ShHLErUFREFLEDK
D&% i |REREKIGTRESNIK




	浄水提出データ
	給水栓提出データ

